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SECTION - A

KeC[ - De

Note : Attempt any ten questions. Each question carries

one mark.   1×10=10

veesš : efkeâvneR ome ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve Skeâ Debkeâ

keâe nw~

Q. 1. Objective Type Questions :

Jemlegefve‰ ØeMve :
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(i) Atherosclerosis occurs due to formation of

_______ in arteries.

SLesjesmkeäuesjesefmeme OeceefveÙeeW ceW ........... yeveves kesâ keâejCe

neslee nw~

(ii) Arithritis more likely occurs in _______.

ieef"Ùee nesves keâer DeefOekeâ mebYeeJevee ........... ceW nesleer nw~

(iii) The most prevalent cancer in Indian women

is _______.

YeejleerÙe ceefnueeDeeW ceW meyemes DeefOekeâ nesves Jeeuee ...........

keQâmej nw~

(iv) The diet of elderly should have more amount

of _______ as nutrient.

Jeefj‰ peveeW kesâ Deenej ceW ........... hees<ekeâ lelJe keâer

cee$ee DeefOekeâ nesveer ÛeeefnÙes~



(3) (4)
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(v) _______ is a popular NGO working for elderly

people in India.

........... Jeefj‰ peveeW kesâ efueS keâece keâjves Jeeuee Skeâ

ØecegKe YeejleerÙe iewj mejkeâejer mebie"ve nw~

Multiple choice question :

yengefJekeâuheerÙe ØeMve :

(vi) In elder people the body volume gradually :

(a) reduces

(b) increases

(c) does not change

(d) none of the above

Jeefj‰ peveeW kesâ Mejerj keâe DeeÙeleve meceÙe kesâ meeLe :

(De) Iešlee nw

(ye) yeÌ{lee nw

(me) meceeve jnlee nw

(o) FveceW mes keâesF& veneR

(vii) Iron deficiency is seen in :

(a) Anemia

(b) Atherosclerosis

(c) Constipation

(d) Malaria

jkeäle ceW ueewn DeÙemkeâ keâer keâceer heeF& peeleer nw :

(De) DeveerefceÙee ceW

(ye) SsLesjesmkeäuesjesefmeme ceW

(me) keâype ceW

(o) ceuesefjÙee ceW



(5) (6)
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(viii)This is not a common complaint during old

age :

(a) Arthritis

(b) Cardiac disorder

(c) Diabetes

(d) Menstural problems

FveceW mes keâewve meer efMekeâeÙele Je=æ peveeW ceW Deeceleewj hej

veneR heeF& peeleer nw :

(De) ieef"Ùee-Jeele

(ye) ùoÙe jesie

(me) [eÙeyešer]pe

(o) ceefmekeâ Oece& mebyebOeer mecemÙee

(ix) Which of these is not a better option for elderly

people :

(a) Yoga

(b) Weight lifting

(c) Meditation

(d) Walking

FveceW mes keâewve mee efJekeâuhe Je=æ peveeW kesâ efueÙes GefÛele veneR

nw :

(De) Ùeesie

(ye) Yeejesòeesueve

(me) OÙeeve

(o) Ûeuevee



(7) (8)

(x) The absorption of antibiotics is affected by :

(a) Dairy products

(b) Carbohydrates

(c) Vegetables

(d) Citrus fruits

SbšeryeeÙeesefškeâ oJeeDeeW kesâ DeJeMees<eCe keâes ØeYeeefJele keâjves

Jeeues heoeLe& nQ :

(De) ogiOe heoeLe&

(ye) keâeyeexneF[^sšdme

(me) meefypeÙeeB

(o) Keós heâue

(xi) The immune system of body changes

drastically during age :

(a) 40 - 45 yrs

(b) 46 - 50 yrs

(c) 60 and above

(d) 51 - 55 yrs

Mejerj keâer jesie ØeeflejesOekeâ #ecelee hej meyemes DeefOekeâ yeoueeJe

Fme Gceü ceW Deelee nw :

(De) 40–45 meeue

(ye) 46–50 meeue

(me) 60 meeue mes DeefOekeâ

(o) 51–55 meeue

(xii) This is effective in reducing the effect of aging

on body :

(a) Yoga

(b) Diet
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(c) Meditation

(d) All the above

FveceW mes keâewve mes efJekeâuhe mes yeÌ{leer Gceü kesâ ØeYeeJe keâes keâce

efkeâÙee pee mekeâlee nw :

(De) Ùeesie

(ye) Deenej

(me) OÙeeve

(o) FveceW mes meYeer

SECTION - B

KeC[ - ye

Note : Attempt any five questions. Each question carries

2 marks. 5×2=10

veesš : efkeâvneR heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 2 Debkeâ

nQ~

Q. 2. Very Short Answer Type Questions (25-30 words) :

Deefle ueIeg GòejerÙe ØeMve (25-30 MeyoeW ceW) :

(i) Name the types of Diabetes :

ceOegcesn kesâ Øekeâej yeleueeSb~

(ii) Define the term mutation.

cÙetšsMeve (GlheefjJele&ve) keâer heefjYee<ee efueKeW~

(iii) Name five common health related complaints

during old age.

Je=æeJemLee ceW nesves Jeeueer 5 mJeemLÙe mebyebOeer mecemÙeeDeeW kesâ

veece efueKeW~

(iv) Name 5 programmes of the government for

elderly people.

Meemeve Éeje Je=æpeveeW kesâ efueS mebÛeeefuele 5 keâeÙe&›eâceeW kesâ

veece efueKeW~

(9) (10)

D-6242 P.T.O. D-6242



(v) Write the importance of Vitamin - C in immunity.

jesie ØeeflejesOekeâ #ecelee ceW efJešeefceve – C keâe cenlJe yeleueeSb~

(vi) Give example of two food-drug interactions.

Yeespeve SJeb oJee kesâ hejmhej ØeYeeJe kesâ oes GoenjCe oW~

(vii) Define stress.

leveeJe keâes heefjYeeef<ele keâjW~

SECTION - C

KeC[ -me

Note : Attempt all five questions. Each question carries 4

marks. 5×4=20

veesš : meYeer heeBÛe ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 4 Debkeâ

nQ~

Q. 3. Short Answer Type Questions (250 words) :

ueIeg GòejerÙe ØeMve (250 MeyoeW ceW) :

(i) Explain the effect of aging on immunity.

yeÌ{leer Gceü kesâ jesie ØeeflejesOekeâ #ecelee hej nesves Jeeues ØeYeeJeeW

keâes mecePeeFS~

(ii) Explain Hypertension.

GÛÛe jkeäleÛeehe keâes mecePeeFÙes~

(iii) Discuss the facilities to be provided in an old

age home.

Je=æeßece ceW Øeoeve keâer peeves Jeeueer megefJeOeeDeeW keâe JeCe&ve

keâjW~

(iv) Discuss the health problems of elderly

women.

Je=æ ceefnueeDeeW keâer mJeemLÙe mecemÙeeDeeW keâe JeCe&ve keâjW~

(11) (12)
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(v) Discuss the different neurological disorders in

elderly.

Je=æpeveeW ceW nesves Jeeueer lebef$ekeâe mebyebOeer efJekeâejeW/mecemÙeeDeeW

keâe JeCe&ve keâjW~

SECTION - D

KeC[ - o

Note : Attempt any three questions. Each question carries

10 marks. 3×10=30

veesš : efkeâvneR leerve ØeMveeW kesâ Gòej oerefpeS~ ØelÙeskeâ ØeMve kesâ 10 Debkeâ

nQ~

Q. 4. Essay Type Questions (500 words) :

efveyebOeelcekeâ ØeMve (500 MeyoeW ceW) :

(i) Explain in detail, mechanism of Ageing.

Je=æeJemLee (Je=æ nesves) keâer Øeef›eâÙee keâe efJemleej mes JeCe&ve

keâjW~

(ii) Explain the nutrition & food requirements during

old age.

Je=æeJemLee ceW hees<eCe SJeb Yeespeve keâer DeeJeMÙekeâleeDeeW keâe

efJemleej mes JeCe&ve keâjW~

(iii) Explain hypertension and cancer in detail.

efJemleej mes GÛÛe jkeäleÛeehe SJeb keQâmej keâer JÙeeKÙee keâjW~

(iv) Explain the role of yoga in old age.

Je=æeJemLee ceW Ùeesie kesâ cenlJe keâer JÙeeKÙee keâjW~

(v) Write notes on any two : 5×2=10

(a) Stress



(b) Nutrition and longevity

(c) Malnutrition

efJemle=le efšhheCeer efueKeW (keâesF& Yeer oes) :

(De) leveeJe

(ye) hees<eCe SJeb uecyeer Gceü

(me) kegâhees<eCe

——

(15)
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